@ AKHE

(BEf:H)
) BAFL B B SF7ESH15H
AfEE (SHTEERBEEZEHNLGBHERERRELIS -
BA*LI&AT T4 EBT %15 1 B B BGR
EXIBAT 1 ERTEREFRAEMA (FLLUAZE 1580 AFLFER HERXIEBRFEALL
= 1A (EhEARL) 2] ) FEME (Fitk)
= AR EHE iLE
= Iz &% Iz &% Bz &% 1,181,000
1 S =54 4/28%RfE 2 1H
2 | MRREHAADFIE 2 1,580,000
3 A HFIN B EE 5/ BIESE
4 | RRMTHEKESHE WEXZH 3 2,300,000
5 |HREHTRIRTARTLA | ] 956,000
i =
A& %EIZT1005 D 101248
w4 ZEEE B - S EEA
SR EQBLARIZHRS
% TH 2.




@

A # R B

(Bfhz:[)
= = BA#L B SF7458230
AfLE |SHTEEE,ENNREEHELCIEZRUVRBRIEREIE -
BAALIGFR 4 EBT % 15 10 B B BGGR
FEIBR tHERSHEFFILS-9(E4ERTRELE) AFLEER FERXFERFTFE AL
%= F1E (EEAFL) F 3 ) FEME (Fiik)
= AR XEE itE
= sz &% ez &% ez ok ] 173,167, 000
1 L= 2 5/143:RfE =18
2 (Aot EE-H-m R 5/14 R IE 22
3 A= BEAHE SRR 5/13% iR /8 21
4 |8 Skt a 5/21 ¢ RiESE
5 [ EBRKAR 5/9%;RfE2HE
6 A= 5/14%RfE 218
7 |G EEBEISE 5/8%%RE 2
8 | IS 5/12i Ri@ 2
> A e = ]

9 |k ST It 5/14F RIE =18 EER£%E(21005 D 101248

= A N 3z p -1 P AR
10 MRS B AR THEIE 4| 165,600,000 ZEELD
11 Cx gt 4t 5/163HBfE 218
12 |%EXE DRBESR WERIFRIE | 2 175,000,000




